In	Out
A) 5	A) 2
B) 0	B) 0

Inmates by Facility: WCSO: 44 D&E: 0 Other: 0 TOTAL: 44

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
1	Williams, Shaun A. WCSO	Warrant- Violation Comm. Supervision Condition	03-06-23 1944	WCSO 06-06-23	06-25-85		\$300,000.00 10% \$30,000.00
2	Dishong, Dillon O. WCSO	Warrant- FTA for District Court, N/C Victim	03-24-23 0847	WCSO 07-24-23	09-21-99	X X	\$250,000.00 10% \$25,000.00
3	Andrade-Caniglia, Fernando E. WCSO	Warrant- 1st Degree Sexual Assault, N/C Victim or Minors	08-29-22 1342	WCSO 05-16-23	09-12-96	X X	\$180,000.00 10% \$18,000.00
4	Ryan, Christopher J. BPD	CCW, Poss. Deadly Weapon by Prohibited Person	12-25-22 0753	WCSO 05-16-23	12-02-75		\$60,000.00 10% \$6,000.00
5	McDougald, Bruce A. WCSO	Warrant- FTA For District Court	03-28-23 1246	WCSO 05-30-23	02-23-89		\$50,000.00 10% \$5,000.00
6	Huckaby, Sean P. BPD	3 rd Degree Sexual Assault	02-09-23 1808	WCSO 06-02-23	03-10-01		\$40,000.00 10% \$4,000.00
7	Allen, Andrew J. WCSO	Warrant - Criminal Mischief x7, Disturbing the Peace	08-26-22 1723	WCSO 06-06-23	05-20-82		\$10,000.00 10% \$1,000.00
8	Rush, Zachariah K. WCSO / Shelby, IA Hold	Warrant- FTA For District Court, Shelby Co- FFJ	04-03-23 1136	WCSO 06-06-23	01-15-86		\$100,000.00 10% \$10,000.00 Shelby Co- NO BOND
9	Culliver, Quiana L. BPD	Protection Order Violation, DUS	05-08-23 1435	WCSO	09-12-87		NO BOND
10	Downie, Martez L. WCSO	Warrant- FTA For District Court x2	04-12-23 1051	WCSO 05-23-23	04-21-03		NO BOND
11	Mikeworth, Laurel A. WCSO Sentenced / Warren Co, OH Hold	Warrant- FTA, Warren Co Warrant- FFJ	02-02-23 1237	WCSO	09-10-79		Release Date 05-12-23 @ 0800 Warren Co- NO BOND
12	Jenkins, Eric E. WCSO / Sentenced	Failure to Register as Sex Offender	02-09-23 0935	WCSO	05-13-86		Release Date 05-18-23 @ 0800

Signed:	cc: Captain's Secretary, County Court, and District Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
13	Taylor, Troy M. WCSO / Sentenced	Forgery	04-23-23 2103	WCSO	11-02-86		Release Date 05-20-23 @ 0900
14	Erickson, Zachary M. WCSO / Sentenced	Bond Revocation	05-24-22 1113	WCSO	07-11-72		Release Date 06-07-23 @ 0800
15	Foust, Kevin A. WCSO / Sentenced	Attempt of a Class 4 Felony	02-28-23 0939	WCSO	07-29-92		Release Date 08-16-23 @ 0800
16	Nielsen, Brian E. Burt Co	Burt Co- No Drug Tax Stamp, Tampering w/ Evidence, Poss. of Meth w/ Intent to Deliver, Poss of Meth 140+ grams Burt Co Warrant-Poss Controlled Substance x2, Poss. Controlled Substance w/o Tax Paid x2, Poss of Money While Violate x3, Poss. of Meth w/ Intent to Deliver x2, Habitual Criminal	02-24-23 1558	WCSO	11-06-76		\$400,000.00 10% \$40,000.00 \$300,000.00 10% \$30,000.00 \$200,000.00 10% \$20,000.00
17	Shill, Travis J. Burt Co	Burt Co- Poss. of Firearm by Prohibited Person x8, Protection Order Violation, Theft By Unlawful Taking	12-21-22 2049	WCSO	09-19-86		\$300,000.00 10% \$30,000.00
18	Deemer, Micheal P. Burt Co	Burt Co- Poss. Marijuana more than 1oz, Poss. Deadly Weapon During Felony, No Drug Tax Stamp x2, Manufacturing Concentrated THC, Manufacturing Marijuana within 100ft of Park, N/C Victim	02-03-23 1440	WCSO	03-22-79	X X	\$150,000.00 10% \$15,000.00
19	French, Patrick J. Burt Co / Monona Co, IA Hold	Burt Co- Obstructing Peace Officer, Poss. Amphetamine, Poss. Deadly Weapon, Poss. Firearm by Prohibited Person, Resisting Arrest, Tampering with Evidence, Monona Co Warrant x3- FTA	12-06-22 2314	WCSO 05-11-23	09-06-69		Burt Co- \$150,000.00 10% \$15,000.00 Monona Co- \$10,000.00 Cash, \$15,000.00 Cash, \$15,000.00 Cash
20	Parker, Brian C. Burt Co / Thurston Co Hold	Burt Co- DUI 4 th , DUR Thurston Co- Hold for Arraignment	12-07-22 1340	WCSO	05-24-75		Burt Co- \$100,000.00 10% \$10,000.00 Thurston Co- \$50,000.00 10% \$5,000.00
21	Bevins, Joseph S. Burt Co	Burt Co- Poss w/ Intent to Deliver, No Drug Tax, Poss. Controlled Substance	04-23-23 1818	WCSO 05-23-23	02-25-81		\$75,000.00 10% \$7,500.00
22	Webster, Perry L. Burt Co / NE Parole Hold	Burt Co- DUR, NE Parole- Parole Violation	03-24-23 1721	WCSO 05-11-23	02-25-83		Burt Co- \$150,000.00 10% \$15,000.00 NE Parole- NO BOND
23	Miller, Timothy P. Burt Co / Sentenced	Burt Co- 3 rd Degree Assault, Protection Order Violation, Stalking, Trespassing, Burt Co- Protection Order Violation, N/C Victim	08-18-22 0703	WCSO	10-20-79	X X	NO BOND Release Date 06-01-23 @ 0800
24	Duncan, Ashley N. Cuming Co	Pott Co Warrant- Parole Violation	05-03-23 1848	WCSO	10-05-94		NO BOND

Signed:	cc: (Captain's	Secretary	v , C	County	Court,	and]	District	Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P	Bond Amount/Release Date
25	Wiese, Kiara R. Dodge Co	Dodge Co- Enticement of Minor w/ Device, Contributing to Delinquency of Minor, Debauching a Minor	03-21-23 0924	WCSO	10-30-02		\$500,000.00 10% \$50,000.00
26	Little, Jacy L. Dodge Co	Dodge Co- Poss. w/ Intent to Deliver, Poss. Controlled Substance, No Drug Tax Stamp, Conspiracy to Deliver Meth	04-02-23 0829	WCSO 05-09-23	05-03-80		\$500,000.00 10% \$50,000.00
27	Klevemann, Katherine E. Dodge Co	Dodge Co- DUI 3 rd , DUR	05-01-23 0846	WCSO	05-12-82		\$20,000.00 10% \$2,000.00
28	Ramirez, Margarita Dodge Co	Dodge Co- 3 rd Degree Domestic Assault, Strangulation, Child Abuse	01-30-23 0845	WCSO	03-31-92		\$10,000.00 10% \$1,000.00
29	Chrisman, Shelby R. Dodge Co	Dodge Co- 3 rd Degree Assault, Strangulation	02-19-23 1126	WCSO	02-10-97		\$10,000.00 10% \$1,000.00
30	Howard, Rachael E. Dodge Co	Dodge Co- 2 nd Degree Trespassing, Accessory to a Felony	04-19-23 1657	WCSO	05-20-85		\$10,000.00 10% \$1,000.00
31	Mathews, Sharita J. Dodge Co	Dodge Co- Poss. Controlled Substance	04-28-23 2053	WCSO	10-10-84		\$10,000.00 10% \$1,000.00
32	Schafer, Neira A. Dodge Co / Sentenced	Dodge Co- Obstruction/Flight to Avoid	05-09-23 1709	WCSO	07-23-00		Release Date 05-30-23 @ 0800
33	Fannon, Penny L. Dodge Co / Sentenced	Dodge Co- FTA	04-27-23 0904	WCSO	02-06-78		Release Date 06-04-23 @ 0800
34	Merida, Carmen S. Dodge Co / Sentenced	Dodge Co- Poss. Controlled Substance, DUR	01-26-23 0853	WCSO	07-10-92		Release Date 06-17-23 @ 0800
35	Stanfield, Darnell D. Gage Co	Gage Co- FTA	05-03-23 1430	WCSO	01-28-90		NO BOND
36	Reagan, Robert E. Jr. Gage Co	Gage Co- Hold for PSI	05-03-23 1436	WCSO	04-20-77		NO BOND

Signed:_ _cc: Captain's Secretary, County Court, and District Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
37	Loviscek, Michael E. Gage Co / Comanche Co, OK Hold	Gage Co- Firearm/Drug, Drug Money, Distrubution of Controlled Substance, Poss. Deadly Weapon by Prohibited Person, Poss. Deadly Weapon in Commission of Felony, Poss. Controlled Substance, Poss. Drug Para., CCW, Light Violation, Camanche Co- FFJ	05-03-23 1434	WCSO	02-09-77		Gage Co- NO BOND Camanche Co- \$50,000.00 Cash
38	Maher, Ashley M. Gage Co / Sentenced	Gage Co- Probation Violation x2	05-03-23 1440	WCSO	11-16-89		Release Date 05-18-23 @ 0800
39	Blythe, Kelsie M. Gage Co / Sentenced	Gage Co- Probation Violation	05-03-23 1438	WCSO	07-02-00		Release Date 05-21-23 @ 0800
40	Hudson, Austin C. OPD	OPD- FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.00 10% \$35,000.00
41	Van, Sara B. Otoe Co	Otoe Co- 3 rd Degree Domestic Assault	05-09-23 1459	WCSO 07-05-23	05-08-90		\$10,000.00 10% \$1,000.00
42	Clemens, Brooke L. Otoe Co	Otoe Co- FTA	05-09-23 1501	WCSO	11-13-94		\$5,000.00 10% \$500.00
43	Brown, Lisa A. Otoe Co	Otoe Co- Contempt of Court	05-09-23 1501	WCSO	09-29-64		NO BOND
44	Lopez, Sarah E. Otoe Co / Sentenced	Otoe Co- FTA x3	12-06-22 1405	WCSO	06-29-80		Release Date 05-10-23 @ 0700
45							
46							
47							
48							

Signed:	cc: Ca	ptain's Secretary	, County	Court, and	District (Court.

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	PO	Bond Amount/Release Date
49							
50							
51							
52							
53							
54							
55							
56							
57							
58							
59							
60							

Signed:	cc: C	'aptain's	Secretar	y, (County	Court	, and	District	Court

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
61							
62							
63							
64							
65							
66							
67							
68							
69							
70							
71							

Signed:	cc:	Ca	ptain	's S	Secretary	V,	Count	y C	ourt,	and	Distri	ct (Cour	٠t.